UNIT PRICE ITEMS

POINCIANA ELEMENTARY SCHOOL (SRTS) SIDEWALK IMPROVEMENT PROJECT

BID SCHEDULE

GENERAL AND SUPPLEMENTARY CONDITIONS, MOBILIZATION, DEMOBILIZATION, TESTING SERVICES, FIELD ENGINEERING, MEASUREMENT AND PAYMENT, AND ENVIRONMENTAL PROTECTION, AS-BUILT SURVEY AND PLANS WILL BE TEN PERCENT (10%) OF WORK PERFORMED, WITH A MAXIMUM OF \$40,000.

The Bidder further proposes to accept as full payment for the work proposed herein the amounts computed under the provisions of the Contract Documents and based on the following unit price amounts, it being expressly understood that the unit prices are independent of the exact quantities involved. The Bidder agrees that the unit prices represent a true measure of the labor and materials required to perform the work, including all allowances for overhead and profit for each type and unit of work called for in these Contract Documents. The amounts shall be shown in both words and figures. In case of a discrepancy, the amount shown in words shall govern.

- 4 - 4 - 1 1 - 14 - 1	Item	Quanti	ity & Ur	nit UP (Fig)	PU (Words)	Extended Total Amt
	1. <u>Pe</u>	erforman	ce and I	Payment Bonds	Ten thousand and %100 dollars	
		1	LS	\$ 10,000.00		\$ 10,000.00
13. 13. 13. 13. 13. 13. 13. 13. 13. 13. 13. 13.					Dilization, Demobilization, Testing Enviromental Protection, and As-bu Sixty thousand Six hundred and	
		1	LS	\$ 60,625.00	twenty-five and % oo dollars.	\$ 60,625.00
	Mater 1. C	rushed L			200 - 100 200 - 100 200 - 100	
		230	FS CA	\$ 69.00	sixty-nine and object dollar	ars _{\$} 15,870.00
	2. 12	2" Stabil	ized Bas	se	<u></u>	: t :: :
		240	CY	\$ 72.00	Seventy - two and 00/100 dollar	\$ \$ 17,280.00
	3. N	Io. 89 Rc	ock		one hundred ninetern and	
		33	CY	\$ 119.00	0/100	<u>\$ 3,927.00</u>
	4. 5	0/50 Mix	of top	soil and sand for interse	ction planter islands	
		50	CY	\$ 54.00	Fifty-four and woo dollars	\$ 2,700.00

Item Quantity & Unit UP (Fig)	PU (Words)	Extended Total Amt
5. Grassing; Bahiagrass sod		
2,500 SF \$ <u>O.9O</u>	90/100 dollars	\$ 2, 25 0. <i>00</i>
6. Flowable Fill (500 psi)		
80 CY \$ 195.00	and offoo dolla	ghty-five urs\$ 14,800.00
Sidewalk Installation 7. 4" Depth		
13,000 SF \$ 7.76	Soven and 75/100	dollars 100,750.00
8. 6" Depth		
4,000 SF \$ 9.25	Nine and 3500 C	dollars \$ 37,000.00
9. Earthwork (Grading) between EOP and	l sidewalk	
3,500 SY \$ 4.50	Four and 5% too d	ollurs \$ 15,750.00
10. Thickened Edge		
900 LF \$ 18.00	Eightean and of	6 dollars 16,200.00
<u>Curb Installation</u> 11. FDOT Type "F" Curb		
600 LF \$ 38.25	Thirty-eight and 3	60 dollars 3 22, 950.00
12. Modified Type "D" Curb (i.e.; Returne	ed Curbs @ Handicap Ramp)	
1,500 LF \$ 28.00	Twenty-eight and o	100 dollars 42,000.00
13. 2-1/4x4x8 Brick Pavers with ADAAG Coppertone, Manganese, or Red Blend	* ***	ndicott or Equal in Rose,
350 SF \$ 60.00	Sixty and oo/10	o dollars \$ 21,000.00
14. Valley Gutter, 3-foot wide		
250 LF \$ 5%.00	Fifty - eight and %	odollars \$ 14,500.00
15. Sewer/Water Meter Boxes w/Lids-11x	18x12 deep-BCF Series or App Three hundred ninety	roved Equal
75 EA \$ 395.00	and object doll	
EN-1101	18 Poinciana El	ementary School (SRTS) Proposal

	Item Quan	ntity & Uni	it UP_(Fig)	PU (Words)	Extended Total Amt
	16. Raise St	orm Drain	Inlet Frame & Grate; traffic		
1214	11	EA	\$ 1,100.00	and option dollars	\$ 1,100.00
	17. Crosswa	ılk Special	Emphasis, White (thermop	lastic)	Ma
	7	EA	\$ 375.00	Three hundred seventy-fi and 60/100 dollars	\$ 2,625.00
	18. 24" Stop	Bar, Whit	e (thermoplastic)		
	6	EA	\$ 90.00	Ninety and Woodollars	\$ 540.00
e, e	19. Paint Ne	ew Curbs Y	fellow		
	1,00	0 LF	<u>\$ 1.00</u>	One and 100 dollars	\$ 1,000.00
	20. Asphalt-	Hot Mix			
	220	SY	\$ 30.00	Thirty and wo dollar	\$ 6,600,00
reference in the	21. Sidewal	k, Curb, Co	oncrete Pad and Brick Pave	r Removal and Disposal (Any	Thickness)
	6,50	0 SF	\$ 1.75	One and 7500 dollar	s \$ 11,375.00
	22. Asphalt	Removal (.	Any Thickness)		
	400	SF	\$ 1.00	One and You dollars	\$ 400.00
Clwin Land	23. Mailbox	Relocation	n (to be coordinated with h	· · · · · · · · · · · · · · · · · · ·	^
	6	EA	\$ 355.00	Three hundred fifty- and color dollars	\$ 2,130.00
er (Kongrajuja, jet)	24. Sign Re	moval at Po	oinciana Plaza (to be coord	inated with Poinciana Plaza ov	
	1	EA	\$ 1,725,00	One thousand seven hundre twenty - five and 1900 dol	lais _{\$} 1,725.00
	25. Fence R	emoval fro	om Right-of-Way	Four and 50/100	
	600	LF	\$ 4.50	dollars	\$ 2,700.00
ologija Voja ostaljija				gn, 3 ½" diameter aluminum p 7-6L, D11-1, M7-1, R5-3, W9-	
	35	EA	\$ 300.00	Three hundred and	\$ 10,500.00

<u>Item</u>	Quant	ity & Un	<u>iit</u>	UP_(Fig)	PU (Words)	Extended Total Amt
dia	mond p	oanel (18	") aı	nd Type 3 OM-3R or ON	ine yellow reflectors (3" diamond 1-3L consisting of a vertical rendered at an angle of 45 degrees two hundred fifty and	ectangle with alternating es (3" width stripe)
	5	EA	\$	250.00	Two hundred fifty an	\$ 1,250.00
28. Tre	ee Remo	oval and	Dis	posal		
	20	EA	\$	725.00	Seven hundred twenty-fi and object dollars	ve \$ 14,500.00
29. Ve	getation	n Planter	Rer	noval from Right-of-Wa	y (includes removal and dispo	sal or relocation)
	1,200	SF	\$	2.75	Two and 75/00 dollars	<u>\$ 3,300.00</u>
30. Tre	ee Reloc	cation an	d Ro	oot Pruning by Certified	Arborist	
	15	EA	\$,985.00	one thousand nine hundle eighty-five and oxfoodol	ed 11ms 29,775.00
31. 8"	Steel pi	pe, Conc	erete	-filled Bollard	. 0.4	
	9	EA	\$	550.00	Five hundred fifty and object dollars	\$ 4,950.00
32. All	owance	: Conting	genc	y 50, 50, 66		\$ 35,000.00
TOTA	LOF	ALL EX	TEI	NDED UNIT PRICE IT	TEMS LISTED ABOVE \$	556,697.00
Five hu	indred	fifty-s	ix t	housand six hundred	<u>Dollar</u> <u>Dollar</u> Dollar edence)	rs and O Cents
		(Amour	nt W	ritten in Words has Prec	edence)	

List items to be performed by Contractor's own f (Use additional sheets if necessary.)	Forces and the estimated total cost of these items.
Project Management	
Enrth Work	
Demo	
Signage	
Moi	
Sewer/Water Boxes	
\$ 245,000.00	
-	

SUBCONTRACTORS

The Bidder further proposes that the following subcontracting firms or businesses will be awarded subcontracts for the following portions of the work in the event that the Bidder is awarded the Contract: Note to Bidder: Subcontractors shall be prequalified to perform projects for FDOT.

Concreto			
Concrete Portion of Work		LINUTAL CONTRACTOR OF THE PROPERTY OF THE PROP	
Bella Constru	ction of	Key Wes	and In Com
Name			
111 US. High way on Street	City	F, FL State	, <u>}3</u> 5040 Zip
Asylvalt Portion of Work			
Affordable A	1 sphalt		
Name	7		
POBOX 1632 Street	Is lamorado City	State	<u>, Z3O3E</u> Zip
Stripins Portion of Work			
Name homes	Luc.		<u> </u>
2201 SE Indian St Street	Stuart City	State	, 3 4 9 9 7 Zip
Surveyins Portion of Work			
Charles To Hon &	Asse.		
2887 Tamiami, Trail & Street	East, Naples	State	, 34 112 Zip

SURETY

THE HART FOR	<u>A</u>	wl	nose address is	
ONE HASTFORD !	CAZA HARTORA	CONN.	06/55	-
Street	City	State	Zip	
888 656 0817	REINA DAIL	-		
Phone	Resident Agent			

BIDDER

The name of the Bidder submitting this Proposal is

Douglas N.	Higgins 5	Dic	doin	g business at
3390 TRAVIS	DOINTE RISTER	1 ANN Arber	M)	48/08
Street		City	State	Zip

which is the address to which all communications concerned with this Proposal and with the Contract shall be sent.

The names of the principal officers of the corporation submitting this Proposal, or of the partnership, or of all persons interested in this Proposal as principals are as follows:

Name	Title
Douglas N. Hygins	PRESIDENT/Director
JAMES H SWEET	VICE-ARESIDENT
DANIEL N. Higgins	VICE-BRESFORT
Ut Wifn D. Higgins	VICE-PRESIDENT
Kelly A WICKIE	VICE-PRESIDENT
R. SUZANNE HANKER	SECRETARY / TREASURER
	•

If Sole Proprietor or Partnership

IN WITNESS	hereto the undersigned has set his (its) hand this	day of	2012.
S	ignature of Bidder		
	Title		
1			
	If Corporation		
IN WITNESS seal affixed by	WHEREOF the undersigned corporation has caused its duly authorized officers this Arthur day of Arthu	sed this instrument to	be executed and its
(SEAL)			
Į	Jouglas N. Hagins, Inc.		,1011o/,
1	vaine of Corporation	6 m	1773 2 3 3 7 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	By Jan & Jung		
	By James H. Scu EE Title VICE - MESIDENT	Y	Maniette (Maniette (Maniet
	Attest K. Shyane Ha Secretary & Suzefants		
PUSTON	Secretary A &U 2AANIS	HAWKER	
A Commence of the second of th	R. SUZANKE I Notan Public Machin	IAWKER	

R. SUZANNE HAWKER Notery Public, Washtenaw County, MI My Commission Expires Mar 7, 2017

CERTIFICATE OF SECRETARY

The undersigned, being the duly elected secretary of Douglas N. Higgins, Inc., a Michigan corporation, hereby certifies that the following resolution was duly adopted by the Board of Directors of said corporation at a meeting held on May 15, 2012 and that said resolution is in full force and effect:

"RESOLVED, That the following listed persons are hereby authorized to execute, on behalf of Douglas N. Higgins, Inc., any and all contracts and documents."

Douglas N. Higgins

Daniel N. Higgins

William D. Higgins

James H. Sweet

Kelly A. Wilkie

War Dota

Jana & Sweet

R. Suzanne Hawker

Secretary

Dated: May 15, 2012